


Space For Rough Work Class-VII/02

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 2023-24

CLASS : VII - PRACTICE PAPER
01. 'Light Year' is a unit used to measure which of

the following parameters of light?

(1) Distance travelled (2) Velocity

(3) Time required (4) Intensity

02. Force has

(1) only direction

(2) only magnitude

(3) both magnitude and direction

(4) neither magnitude nor direction

03. Pressure is directly proportional to

(1) density

(2) height/depth

(3) acceleration due to gravity

(4) all of these

04. The size of a shadow of an opaque object close to
the screen and away from the source of light
when object moves towards the screen

(1) increases

(2) decreases

(3) remains the same

(4) first decreases then increases

05. In an electric circuit, the two terminals of the
electric cell are

(1) connected directly to each other

(2) connected to the filament of the bulb

(3) connected to the two terminals of the bulb

(4) All the above are correct

06. Shapes of natural magnets are ........

(1) horse-shoe (2) irregular

(3) cylindrical (4) regular

07. A beggar wrapped himself with a few layers of
newspaper on a cold winter night. This helped
him to keep himself warm because

(1) friction between the layers of newspaper
produces heat.

(2) air trapped  between the layers of newspaper
is a bad conductor of heat.

(3) newspaper is a conductor of heat.

(4) newspaper is at a higher temperature than
the temperature of the surrounding

01. î zdk' k o"kZ* , d bdkbZ gS ft l dk mi ; ksx fuEufyf[ kr esa i zdk' k
ds fdl  eki naM dks eki us esa fd; k t krk gS\
(1) r;  dh xbZ nwjh (2) osx
(3) vko' ; d l e; (4) rhozrk

02. cy esa gksrk gS&
(1) dosy fn' kk
(2) dsoy i fjek.k
(3) i fj .kke vkSj fn' kk nksuksa
(4) u rks i fj.kke vkSj u gh fn' kk

03. nkc l ekuqi krh gSµ
(1) ?kuRo ds
(2) mQ¡pkbZ/xgjkbZ ds
(3) xq: Roh;  Roj.k ds
(4) buesa l s l Hkh

04. t c oLrq i jns dh vksj xfr djrh gS rks i jns ds ut nhd vkSj i zdk' k
L=kksr l s nwj vLi "V oLrq dh Nk; k dk vkdkj &
(1) c<+sxk
(2) ?kVsxk
(3) l eku jgsxk
(4) i gys ?kVsxk fi Qj c<+sxk

05. , d fo| qr i fj i Fk esa fo| qr l sy ds nks VfeZuy &
(1) l h/ s , d nwl js l s t qM+s gq,  gSa
(2) cYc ds fi QykesaV l s t qM+s gksrs gSa
(3) cYc ds nksuksa V£euy l s t qMs+ gq,  gSa
(4) mi jksDr l Hkh l gh gS

06. i zkdf̀rd pqacd dk vkdkj _______ gSµ
(1) ?kksM+s dk uky (2) v fu; fer
(3) csyukdkj (4) fu; r

07. , d BaMh jkr esa , d fHk[ kkjh v [ kckj ds i jr  l s v i us dks <+drk
gSA [ kqn dks xeZ j[ kus esa ; g ml dh enn djrk gS D; ksafd
(1) v [ kckj ds i jr  ds chp dk ?k"kZ.k mQt kZ mRi UUk djrk gSA
(2) v [ kckj ds i jr  ds chp gok i Qal  t krh gS t ks mQt kZ dk

dqpkyd gSA
(3) v [ kckj mQt kZ dk l qpkyd gSA
(4) vkl i kl  ds rki eku l s v [ kckj dk rki eku mPPk gSA
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08. Rekha goes to the football ground to play football.
The distance-time graph of his journey from her
home to the ground is given as Figure below :
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What is her speed between 12 and 18 minutes
of her journery?
(1) 12.5 m/s (2) 18.4 m/s
(3) 10 m/s (4) 15 m/s

09. A rainbow can be seen in the sky
(1) when the sun is in front of you
(2) when the sun is behind you
(3) when the sun is overhead
(4) only at the time of sun rise

10. Which of the following is not a circuit element?
(1) Potential difference
(2) Voltmeter
(3) Resistor
(4) Battery

11. The strength of an electromagnet does not
depend upon
(1) the current flowing through the coil
(2) the number of turns of the coil
(3) the insulating material of the coil
(4) the length of the electromagnet

12. A virtual image larger than the object  can be
produced by
(1) concave lens (2) plane mirror
(3) convex mirror (4) concave mirror

13. Which of the following is true regarding convex
lens?
(1) It forms a magnified image wherever the

object is placed.
(2) It forms a magnified image only when the

object is very close.
(3) It always forms diminished and erect images.
(4) It is not made of a transparent material.

08. js[ kk i qQVckWy ds eSnku esa i qQVckWy [ ksyus t krh gSA nwjh&l e;  ds xzki Q
ds }kjk ml ds ?kj l s eSnku dh ; k=kk uhps fp=k esa fn; k x; k gSµ
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ml dh ; k=kk ds 12 l s 18 feuV ds chp dh xfr D; k gS\
(1) 12.5 m/s (2) 18.4 m/s

(3) 10 m/s (4) 15 m/s

09. vkdk' k esa bUnz/ uq"k ns[ kk t k l drk gS&
(1) ; fn l w; Z vki ds l keus gksrk gS
(2) ; fn l w; Z vki ds i hNs gS
(3) ; fn l w; Z fl j l s mQi j gSA
(4) dsoy l w; ksZn;  ds l e;

10. fuEufyf[ kr esa l s dkSu&l k , d i fj i Fk ds vO; o ugha gS\
(1) foHkokraj
(2) oksYVehVj
(3) i zfr jks/
(4) cSVjh

11. , d fo| qr pqEcd dh ' kfDr fuHkZj ugha djrh gS\
(1) dq.Myh esa i zokfgr fo| qr / kjk i j
(2) dq.Myh esa eksM+ dh l a[ ; k i j
(3) dq.Myh ds jks/ d l kexzh i j
(4) fo| qr pqEcd dh yackbZ i j

12. oLrq l s cM+k , d vkHkkl h i zfrfcEc cuk; k t k l drk gSµ
(1) vory ysal  }kjk (2) l ery ni Z.k }kjk
(3) mÙky ni Z.k }kjk (4) vory ni Z.k }kjk

13. mÙky ysal  ds fo"k;  esa fuEufyf[ kr esa l s dkSu&l k l gh gSµ
(1) t gk¡ dksbZ Hkh oLrq j[ kh gksrh gS] ; g , d vko£/ r i zfrfcEc

cukrk gSA
(2) ; g , d vko£/ r i zfrfcEc cukrk gS dsoy t c oLrq cgqr

ut nhd gksrk gSA
(3) ; g ges' kk NksVk vkSj l h/ k i zfrfcEc cukrk gSA
(4) ; g i kjn' khZ i nkFkZ l s ugha cuk gSA
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14. On a region, water boils at (20 × n)°C. The
temperature expressed in Fahrenheit is 212°F.
What is the value of n?
(1) 4 (2) 7 (3) 8 (4) 5

15. Rahul starts drilling a steel nail in a wooden
block with its sharp side. The area of sharp side
is 0.2 m2. He applies a force of 4N on it. How
much pressure will the nail exert on the wooden
block?
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4 N 0.2 m2

Steel
nail

(1) 0.8 Pa (2) 0.4 Pa
(3) 10 Pa (4) 20 Pa

16. What force would be required to produce an
acceleration of 2 m/s2 in a moving wall of mass
4 kg?

(1) 8 N (2) 2 N (3)
1 N
2 (4) 16 N

17. A car starting from rest acquires a velocity of
72 kmh–1 in 10 seconds. What is its
acceleration?
(1) 0.5 m/s2 (2) 1.5 m/s2

(3) 2 m/s2 (4) 1 m/s2

18. Reema's mother has done some preparations for
her 'Birthday Party'. Which of the following
changes can be reversed
(1) Baking cake in an oven
(2) Burning of a candle
(3) Rolling a ball of dough and baking it to make

Kulcha.
(4) Blowing of a balloon

19. Match the Column - I and Column - II by selecting
the correct option

Column-I Column-II
(A) Salt (i) Baking Soda
(B) Base (ii) HCl
(C) Acid (iii) NH4Cl

A B C A B C
(1) (iii) (i) (ii) (2) (iii) (ii) (i)
(3) (ii) (i) (iii) (4) (i) (iii) (ii)

20. Which Indicator is odd one out ?
(1) Red Cabbage (2) Litmus
(3) Phenolphthalein (4) Turmeric

14. , d {ks=k i j i kuh (20 × n)°C i j  mcyrk gSA i QkWjugkWbV esa
rki eku dks 212°F }kjk O; Dr fd; k t krk gSA n dk eku D; k gS\
(1) 4 (2) 7 (3) 8 (4) 5

15. jkgqy , d LVhy ds dhy ds uqdhys Hkkx l s ydM+h ds VqdM+s esa Nsn
djuk ' kq:  djrk gSA uqdhys Hkkx dk {ks=ki Qy 0.2 m2 gSA. og
bl i j 4N dk cy yxkrk gSA dhy] ydM+h ds VqdM+s i j fdruk
ncko yxk, xk\

y d M +h d k
V qd M +k

4 N 0.2 m2

LVhy  d k
d hy

(1) 0.8 Pa (2) 0.4 Pa
(3) 10 Pa (4) 20 Pa

16. 4 kg nzO; eku ds , d xfreku nhokj esa 2m/s2 dk Roj.k mRi Uu
djus ds fy,  fdrus cy dh vko' ; drk gksxh\

(1) 8 N (2) 2 N (3)
1 N
2 (4) 16 N

17. , d dkj dks t c fLFkj fLFkfr l s pkyw fd; k t krk gS rks 10 l sds.M
esa 72 kmh–1 dk osx i zkIr djrk gSA bl dk Roj.k D; k gS\
(1) 0.5 m/s2 (2) 1.5 m/s2

(3) 2 m/s2 (4) 1 m/s2

18. jhek dh ek¡ ml ds t̂ Uefnu i kVhZ* ds fy,  dqN rS; kjh djrh gSA
fuEufyf[ kr esa dkSu&l k i fjorZu foi jhr gks l drk gSµ
(1) vksou esa cs̄dx dsd
(2) eksecÙkh dk t yuk
(3) xw¡Fks gq,  vk¡Vs dk xksyk cukuk rFkk bl s i dkdj dqYNk cukukA
(4) cSywu dk i wQVuk

19. l gh fodYi  ds p; u }kjk LrEHk-I dks LrEHk-II l s feyk, ¡
LrEHk-I LrEHk-II

(A) ued (i) cs̄dx l ksM
(B) {kkj (ii) HCl

(C) v Ey (iii) NH4Cl

A B C A B C

(1) (iii) (i) (ii) (2) (iii) (ii) (i)

(3) (ii) (i) (iii) (4) (i) (iii) (ii)

20. buesa l s dkSu&l k l wpd fHkUUk gS
(1) yky i ÙkkxksHkh (2) fyVel
(3) fi QuksYi QFksfyu (4) gYnh
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21. Substance 'X' when react with HCl produces NaCl
and H2O. What is the substance 'X' ?
(1) Sodium Acetate (2) Sodium Sulphate
(3) Sodium Hydroxide (4) Sodium Oxide

22. What is the link between slaked lime and lime
water ?
(1) Both are Acids
(2) Both are Indicators
(3) Both contain carbonates of calcium
(4) Both contain calcium Hydroxide

23. Which one of the following does not results in
the acidic nature of soil ?
(1) Addition of chemical fertilizer
(2) Addition of organic matter
(3) Acid rain
(4) Addition of slaked lime

24. If baking soda is not available in the house, what
other household substance can you use to treat
an ant sting
(1) Curd (2) Orange Juice
(3) Washing Soap (4) Spinach Juice

25. Tartaric Acid : Grapes : : _________ : Oranges
(1) Formic Acid (2) Citric Acid
(3) Oxalic Acid (4) Nitric Acid

26. 'Litmus' a natural dye is an extract of which of
the following ?
(1) China rose (Gudhal)
(2) Beet root
(3) Lichen
(4) Blue berries (Jamun)

27. A student dissolved ash in water which is
produced after burning of Magnesium ribbon.
What is the substance formed and what is its
nature ?
(1) MgO ; Basic (2) Mg(OH)2 ; Basic
(3) Mg ; Metallic (4) MgO ; Neutral

28. A student mixed pieces of Chalk with Water.
After sometime she observed the formation of
_______ new substance.
(1) 0 (2) 2 (3) 4 (4) 3

29. Pick out the odd one :
(1) Baking of Cake
(2) Smoking of Cigarette
(3) Biogas formation
(4) Melting of Ice

21. i nkFkZ 'X' t c HCl l s v fHkfØ; k djrk gS rks NaCl vkSj H2O.
cukrk gSA ; g i nkFkZ 'X' D; k ?
(1) l ksfM; e , sfLkVsV (2) l ksfM; e vkWDl kbM
(3) l ksfM; e gkbMªkWDl kbM (4) l ksfM; e vkWDl kbM

22. pwuk i RFkj vkSj pwuk t y ds chp dh dM+h D; k gS \
(1) nksuks vEy gSaA
(2) nksuksa l wpd gSA
(3) nksuksa esa dSfYl ; e dk dkcksZusV gSA
(4) nksuksa esa dSfYl ; e gkbMªkWDl kbM gksrk gSA

23. fuEufyf[ kr esa dkSu feV~Vh ds vEyh;  i zÑfr dk dkj.k ugha gS\
(1) jkl k; fud moZjd dk l adyu
(2) dkcZfud i nkFkZ dk l adyu
(3) vEy o"kkZ
(4) pwuk i RFkj dk l adyu

24. ; fn ?kj esa cs̄dx l ksMk mi yC/  u gks] rks phaVh dkVus i j fdl  ?kjsyq
i nkFkZ dk mi ; ksx dj l drs gSa\
(1) ngh (2) ukjaxh dk jl
(3) di M+k / ksuss okyk l kcqu (4) i kyd dk jl

25. VkVsZfjd vEy : vaxwj : : _________ : ukjaxh
(1) i QkW£ed vEy (2) fl fVªd vEy
(3) vkWDt sfyd vEy (4) ukbfVªd vEy

26. fyVel  , d i zkÑfrd jax gS t ks fuEu esa fdl l s vyx fd; k t krk
gS\
(1) xqM+gy (2) pqdUnj
(3) ' kSoky (4) t kequ

27. , d Nk=k] jk[ k dks i kuh esa ?kksyrk gS t ks eSfXuf' k; e ds i Qhrs dks
t ykus l s mRi UUk gqvkA dkSu&l k i nkFkZ cusxk rFkk bl dh i zÑfr D; k
gksxh\

(1) MgO ; {kkjh; (2) Mg(OH)2 ; {kkjh;

(3) Mg ; / kfRod (4) MgO ; mnkl hu

28. , d Nk=kk pkWd ds VqdM+s dks i kuh esa feykrh gSA dqN l e;  ckn
ml us ns[ kk_______u,  i nkFkZ dk fuekZ.k gqvkA
(1) 0 (2) 2 (3) 4 (4) 3

29. buesa l s fHkUu dks pqusa &
(1) dsd dk i wQyuk
(2) fl xjsV dk / qvk¡
(3) ck; ksxSl  dk fuekZ.k
(4) ci ZQ dk fi ?kyuk
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30. In an Experiment, a Student dropped a blade in
the solution of copper sulphate. He observed a
change in the colour of solution from
(1) No change in colour
(2) Blue to colourless
(3) Blue to light green
(4) Blue to red

31. Which will undergo a chemical change when
water is added to it. Identify the substance ?
(1) NaCl (2) Lemon Juice
(3) Sugar (4) None of above

32. Which of the following options is not a physical
property of a substance?
(1) Size (2) State
(3) Colour (4) Composition

33. State whether the following statements are True
or False
(A) Cutting a log of wood into pieces is a chemical

change
(B) Formation of manure from leaves is a

physical change
(C) Iron pipes with Zinc do not get rusted easily
(D) Iron and rust are the same substances.

A B C D A B C D
(1) T T F T (2) F F F F
(3) F F T F (4) F T T F

34. Changes in which new substances are formed
are called __________ changes.
(1) Physical
(2) Chemical
(3) Reversible
(4) both (1) and (3)

35. Which one is not a type of asexual reproduction
(1) Budding
(2) Pollination
(3) Spores
(4) Fragmentation

36. Which one among the following plant give rise
to new plant by the root ?
(1) Sweet Potato (2) Ginger
(3) Orchid (4) Rose

37. Amoeba undergo :
(1) Vegetative propagation
(2) Spore formation
(3) Fragmentation
(4) Binary fission

30. , d i jh{k.k esa] , d Nk=k dkWi j l Yi sQV ds ?kksy esa , d CysM Mkyrk
gSA og ns[ krk gS fd ?kksy ds jax esa i fjorZu gksrk gSµ
(1) jax esa dksbZ i fjorZu ugha gksrk gS
(2) uhyk l s jaxghu gks t krk gS
(3) uhyk l s gYdk gjk gks t krk gS
(4) uhyk l s yky gks t krk gS

31. fdl esa jkl k; fud i fjorZu gksxk t c buesa t y feyk; k t k, xkA
i nkFkZ dks pqus\
(1) NaCl (2) uhacw dk jl
(3) ' kdZjk (4) mi ; qZDr dksbZ ugha

32. fuEufyf[ kr fodYi ksa esa dkSu i nkFkZ dk HkkSfrd xq.k ugha gS\
(1) vkdkj (2) voLFkk
(3) jax (4) l a?kVd

33. fuEufyf[ kr dFkusa l gh gS ; k xyr ml s pqusaµ
(A) ydM+h ds yV~Bs dks VqdM+s esa dkVuk jkl k; fud i fjorZu gSA
(B) i fÙk; ksa l s [ kkn cukuk HkkSfrd i fjorZu gSA
(C) t Lrs ds l kFk yksgs ds i kbi  esa vkl kuh l s t ax ugha i dM+rk gSA
(D) yksgk vkSj t ax , d gh i nkFkZ gSA

A B C D A B C D

(1) T T F T (2) F F F F

(3) F F T F (4) F T T F

34. og i fjorZu ft l esa u,  i nkFkZ curs gaS __________ i fjorZu
dgykrs gSaA
(1) HkkSfrd
(2) jkl k; fud
(3) mRØe.kh;
(4) (1) rFkk (3) nksuksa

35. buesa l s dkSu vySafxd i zt uu dk i zdkj ugha gS \
(1) eqdyu
(2) i jkx.k
(3) cht k.kq
(4) fo[ kaMu

36. fuEufyf[ kr esa dkSu&l s i kS/ s l s t M+ }kjk u,  i kS/ s òf¼ djrs gSa\
(1) ' kdjdUn (2) vnj [ k
(3) vkW£dM (4) xqykc

37. vehck esa gksrk gSµ
(1) vySafxd i zt uu
(2) cht k.kq fuekZ.k
(3) fo[ kaMu
(4) f}fo[ kaMu
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38. 'X' is present in the stomach. However, presence
of excess of it causes indigestion, which
requires the intake of milk of magnesia to undo
the effect of 'X'. What is 'X'
(1) HCl (2) H2SO4
(3) NaOH (4) KOH

39. Select the correct statement :
(1) Rainfall is measured by an instrument called

spirometer
(2) The weather is such a complex phenomenon

that it can vary over very long periods of time
(3) The average weather pattern taken over a

long time, say 25 years is called the climate
of the place

(4) Polar bears have white fur so that they are
easily visible in the snowy white background

40. The lion-tailed macaque lives in the
(1) Rain forest of Eastern ghats
(2) Rain forest of Western ghats
(3) Rain forest of Tropical forest
(4) Rain forest of Deciduous region

41. Match the following :
Column - I Column - II

A. Chlorophyll (i) Bacteria
B. Nitrogen (ii) Heterotrophs
C. Amarbel (iii) Pitcher plant
D. Animals (iv)Leaf
E. Insects (v) Parasite

A B C D E
(1) (v) (iv) (ii) (iii) (i)
(2) (iv) (i) (v) (ii) (iii)
(3) (i) (ii) (iii) (iv) (v)
(4) (ii) (iii) (iv) (v) (i)

42. Name the muscular Sheet which separates the
Abdomen from the chest cavity
(1) Ribs (2) Diaphragm
(3) Spiracles (4) Tracheae

43. During Anaerobic respiration the end product
other than CO2 and energy is
(1) O2 (2) Alcohol
(3) Nitrogen (4) Water

44. Name the tiny pores present in the leaves of the
plant for exchange of gases
(1) Stomata (2) Tracheae
(3) Chloroplast (4) Spiracles

38. vek' k;  esa X mi fLFkr gSA ; | fi  bl ds vR; f/ d mi fLFkfr ds dkj.k
v i p gksrh gS] t ks X ds i zHkko ds de djus ds fy,  feYd vkWi Q
eSfXuf' k; k dh t : jr  gskrh gSA X D; k gS\
(1) HCl (2) H2SO4
(3) NaOH (4) KOH

39. l gh dFku dks pqusaµ
(1) o"kkZ dks , d ; a=k l s eki k t krk gS t ks Li kbjksehVj dgykrh gS
(2) ekSl e og t fVy ?kVuk gS t ks cgqr yEcs l e;  dky ds ckn

cny l drk gS
(3) yEcs l e;  rd ; kfu 25 o"kZ vkSl r ekSl e i SVuZ] ml  LFkku dh

ekul wu dgykrh gSA
(4) / qzoh;  Hkkyw esa mt yk jksok¡ gS bl fy,  os oi QhZys mt ys i fj i s{;

esa vkl kuh l s fn[ kkbZ nsrs gSaA
40. ' ksj&dh rjg i w¡N okyk eSdkd jgrk gSµ

(1) i wohZ ?kkV ds o"kkZ ou esa
(2) i f' peh ?kkV ds o"kkZ ou esa
(3) mQ"edfVca/ h;  ou ds o"kkZ ou esa
(4) i r>M+ {ks=k ds o"kkZ ou esa

41. fuEufyf[ kr dks feyku djsaµ
LrEHk-I LrEHk-II

A. i . kZgfjr (i) t hok.kq
B. ukbVªkst u (ii) i jt hoh
C. vejcsy (iii) fi pj i kS/ k
D. i ' kq (iv) i Ùkk
E. dhV (v) i j i ks"kh

A B C D E
(1) (v) (iv) (ii) (iii) (i)
(2) (iv) (i) (v) (ii) (iii)
(3) (i) (ii) (iii) (iv) (v)
(4) (ii) (iii) (iv) (v) (i)

42. i s' kh;  foLrkj dk uke crk, ¡ t ks vek' k;  dks o{kxqgk l s i F̀kd djrk
gSµ
(1) i l yh (2) eè; i V
(3) ' okl  ja/ z (4) ok; q uyh

43. ok; oh;  ' ol u ds nkSjku CO2 rFkk mQt kZ ds vykok vafre mRi kn
gS&
(1) O2 (2) vYdksgy
(3) ukbVªkst u (4) t y

44. i kS/ ksa dh i fÙk; ksa esa xSl ksa ds fofue;  ds fy,  mi fLFkr l w{e fNnz ds
uke gSµ
(1) ja/ z (2) ok; q uyh
(3) i . kZgfjr (4) ' okl  ja/ z
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45. Which of the following statements are correct
about the Tropical Rainforests ?
(a) Even in the coldest month the temperature

is generally higher than about 15°C
(b) Days and nights are almost equal in length

throughout the Year.
(c) Found in South east Asia, Central America

and Central Africa.
(d) Less competition between and among

animals for food and shelter
(1) (a) and (b) only (2) (a), (b) and (c) only
(3) (c) and (d) only (4) All the above

46. The bacterium which provides nitrogen to the
leguminous plant is
(1) Rhizobium (2) Yeast
(3) Fungi (4) Lichens

47. Some organisms live together and share shelter
and nutrients. This is called
(1) Predation
(2) Symbiotic relationship
(3) Autotrophs
(4) Heterotrophs

48. The Resting person, usually has a pulse rate
between ______ and _______ beats per minute.
(1) 100, 120 (2) 180, 80
(3) 72, 80 (4) 22, 40

49. In plant, Water is transported through
(1) Xylem (2) Phloem
(3) Stomata (4) Root hair

50. Water reaches great heights in the trees
because of Suction pull caused by
(1) Evaporation (2) Transportation
(3) Transpiration (4) Both (1) and (3)

51. If a rational number 
x 1
y
 , where x and y are

both positive integers. Which of the following is
greater than 1 ?

(1)
x

2y (2) 2

x
y (3)

y
x (4) x – y

52. A person travels 3.5 km from place A to place B.

Out of this distance, he travels 
21
3

km on bicycle;

11
6 km on scooter and the rest on foot. What

fraction of the distance does he cover on foot ?

(1)
3

19 (2)
4

11 (3)
4
21 (4)

2
3

45. mQ".kdfVca/ h;  o"kkZ ou ds ckjs esa fuEufyf[ kr esa dkSu&l k dFku
l R;  gS\
(a) BaMh ds eghuksa esa Hkh rki eku l kekU; rk 15°C l s v f/ d gksrk

gSA
(b) i wjs l ky esa fnu vkSj jkr dh yEckbZ yxHkx cjkcj gksrh gSA
(c) ; g nf{k.k i woZ , f' k; k] l sUVªy vesfjdk rFkk l sUVªy v fÚdk esa

i k; k t krk gS
(d) Hkkst u rFkk vkokl  ds fy,  t kuojksa ds chp vkSj vki l  esa

i zfrLi èkkZ de gksrh gSA
(1) dsoy (a) rFkk (b) (2) dsoy (a), (b) rFkk (c)
(3) dsoy (c) rFkk (d) (4) mi ; qZDr l HkhA

46. t hok.kq t ks i kSf"Vd i ks/ s dks ukbVªkst u i znku djrk gSµ
(1) jkbt ksfc; e (2) [ kehj
(3) i aQxl (4) ' kSoky

47. dqN t ho , d l kFk jgrs gSa rFkk vkokl  rFkk Hkkst u l k>k djrs gSaA
; g dgykrk gSµ
(1) f' kdkj
(2) l gt hoh l aca/
(3) Loi ks"kh
(4) i j i ks"kh

48. foJke esa fLFkr O; fDr dk jDrpki  l kekU; r% ______ rFkk
_______ / M+du i zfr feuV ds chp gksrk gSA
(1) 100, 120 (2) 180, 80
(3) 72, 80 (4) 22, 40

49. i kS/ ksa esa] t y bl ds }kjk ogu fd; k t krk gSµ
(1) t k; ye (2) Ýyks, e
(3) ja/ z (4) t M+ dksf' kdk

50. buds }kjk ' kks"k.k [ khapko ds dkj.k i sM+ esa t y cgqr mQ¡pkbZ rd
i g¡qprh gSµ
(1) ok"i hdj.k (2) i fjogu
(3) i zLosnu (4) (1) rFkk (3) nksuksa

51. ; fn 
x 1
y
 , d i fjes;  l a[ ; k gS t gk¡ x vkSj y nksuksa / ukRed

i w.kk±d gSA fuEufyf[ kr esa l s dkSu&l k 1 l s cM+k gS\

(1)
x

2y (2) 2

x
y (3)

y
x

(4) x – y

52. , d O; fDr LFkku A l s LFkku B rd 3.5 km dh nwjh r;  djrk

gSA bl  nwjh esa og 21
3

km dh nwjh l kbZfdy l s] 11
6

km LdwVj

l s vkSj ckdh i Sny r;  djrk gSA nwjh dk fdruk Hkkx og i Sny
pyrk gS\

(1)
3

19 (2)
4

11 (3)
4
21 (4)

2
3



Space For Rough Work Class-VII/09

53.
3 4 5 21M of of of
5 7 9 24

  of 5040. Find the value of M.

(1) 420 (2) 840 (3) 84 (4) 4200

54. 5 × 9 = 144, 7 × 8 = 151,  4 × 6 = 102 find the
value of 2 × 5.

(1) 73 (2) 77 (3) 37 (4) 97

55. Given that 
2 2A 1
3 3

   
 

, and 1 1B 6 2
3 4

   
 

,

find the value of A – B.

(1)
16
4

(2)
1–6
4

(3)
31
4

(4)
3–1
4

56. What is the difference between the biggest and
the smallest fraction in the given fractions.

2 4 5 3, , ,
3 5 6 4

(1)
1

12 (2)
1
20 (3)

1
30

(4)
1
6

57. If x% of y is the same as 
4
5

 of 80. Find the value

of xy.

(1) 3200 (2) 4000 (3) 6800 (4) 6400

58. Using laws find the value (315   310) × 32

(1) 2485 (2) 2187 (3) 1609 (4) 2245

59. Find 8 × 105 + 0 × 104 + 3 × 103 + 2 × 102

+ 0 × 101 + 5 × 100

(1) 803205 (2) 803208 (3) 714312 (4) 714318

60. Find the area of quadrilateral ABCD here
AC = 20 cm, BM = 4 cm DN = 4 cm and BM  AC
and DN  AC

N

4cm

4cm

M
C

B

A

D
(1) 40 cm2 (2) 80 cm2 (3) 120 cm2 (4) 160 cm2

61. A garden is 50 m long and 42 m broad. A path of
2 m wide is built outside and around it. Find the
area of path in hectare ?

(1) 0.384 h (2) 0.0384 h

(3) 0.003840 h (4) 0.00384 h

53. 
3 4 5 21M
5 7 9 24

dk dk dk  dk 5040, M dk eku i zkIr djsaA

(1) 420 (2) 840 (3) 84 (4) 4200
54. 5 × 9 = 144, 7 × 8 = 151, 4 × 6 = 102

2 × 5 dk eku i zkIr djsaA
(1) 73 (2) 77 (3) 37 (4) 97

55. fn; k x; k gS 2 2A 1
3 3

   
 

, vkSj 1 1B 6 2
3 4

   
 

, A – B

dk eku i zkIr djsaA

(1)
16
4 (2)

1–6
4 (3)

31
4 (4)

3–1
4

56. fn; s x; s fHkUUkksa esa l cl s cM+s fHkUUk l s l cl s NksVs fHkUUk ds chp dk
vUrj d; k gS\

2 4 5 3, , ,
3 5 6 4

(1)
1

12 (2)
1
20 (3)

1
30 (4)

1
6

57. ; fn y dk x%, 80 dk 4
5 ds l eku gSA xy dk eku i zkIr djsA

(1) 3200 (2) 4000 (3) 6800 (4) 6400

58. fu; eksa dk mi ; ksx djrs gq,  (315   310) × 32 dk eku i zkIr
djsaA
(1) 2485 (2) 2187 (3) 1609 (4) 2245

59. i zkIr djsa& 8 × 105 + 0 × 104 + 3 × 103 + 2 × 102 +
0 × 101 + 5 × 100

(1) 803205 (2) 803208 (3) 714312 (4) 714318

60. fn; s x; s prqHkqZt  ABCD dk {ks=ki Qy Kkr  d j as] ; gk¡
AC = 20 cm, BM = 4 cm DN = 4 cm vkSj BM  AC
vkSj DN  AC

N

4cm

4cm

M
C

B

A

D
(1) 40 cm2 (2) 80 cm2 (3) 120 cm2 (4) 160 cm2

61. , d cxhpk 50 m yEck vkSj 42 m pkSM+k gSA , d 2m pkSM+k
jkLrk ckgj dh vksj pkjksa rj i Q cuk; k x; k gSA jkLrs dk {ks=ki Qy
gsDVj esa i zkIr djsa\
(1) 0.384 h (2) 0.0384 h

(3) 0.003840 h (4) 0.00384 h



Space For Rough Work Class-VII/010

62. Triangle ABC is isosceles with AB = AC = 5.5 cm
and BC = 8 cm. What will be height from
C to AB. If the height AD from A to BC is 4.5 cm.
Find the area of ABC ?

(1) 6.54 cm, 18 cm2 (2) 5.06 cm, 18 cm2

(3) 6.54 cm, 20 cm2 (4) 7.49 cm, 20 cm2

63. Number of prime factors in

     3/5 2/5 1/5216 2500 300   is

(1) 6 (2) 9
(3) 8 (4) None of these

64. The value of (7–1 – 8–1)–1 – (3–1 – 4–1)–1 is –
(1) 56 (2) 12 (3) 68 (4) 44

65. Which of the following option is true ?

(1)
5 7 9 11
7 9 11 13
   (2)

11 9 7 5
13 11 9 7

  

(3)
5 11 7 9
7 13 9 11
   (4)

5 9 11 7
7 11 13 9
  

66. Divide the sum of 
65
12  and 

12
7  by their difference.

(1)
599
311

(2)
680
216 (3)

642
133

(4)
501
301

67. The product of two rational numbers is 
–28 .
81  If

one of the number is 
14
27 , then find the other

number.

(1)
2
5 (2)

8
17 (3)

–2
3 (4)

4
3



68. From the figure. find the value of x. If BC||ED

x°

85° CB

A

E D
(1) 85° (2) 90° (3) 95° (4) 80°

69. [0.25  (0.5)] + [0.25 + (0.5)] is to
(1) 0.86 (2) 1.25 (3) 1.70 (4) 5.75

70. For three rational numbers a, b, c we have a > b
and b < c. Which one of the following is true ?
(1) a > c
(2) b is the smallest rational number
(3) a < c
(4) both (1) and (2) are correct

62. ABC l ef}ckgq f=kHkqt  gS ft l esa AB = AC = 5.5 cm vkSj
BC = 8 cm. C l s AB dh yEckbZ D; k gksxhA ; fn AD dh yEckbZ
A l s BC l s 4.5 cm gSA ABC dk {ks=ki Qy Kkr djsa?
(1) 6.54 cm, 18 cm2 (2) 5.06 cm, 18 cm2

(3) 6.54 cm, 20 cm2 (4) 7.49 cm, 20 cm2

63.      3/5 2/5 1/5216 2500 300   esa eq[ ;  xq.kd dh l a[ ; k
gS\
(1) 6 (2) 9

(3) 8 (4) buesa l s dksbZ ugha

64. (7–1 – 8–1)–1 – (3–1 – 4–1)–1 dk eku gSµ
(1) 56 (2) 12 (3) 68 (4) 44

65. fuEufyf[ kr esa l s dkSu&l k fodYi  l gh gS \

(1)
5 7 9 11
7 9 11 13
   (2)

11 9 7 5
13 11 9 7

  

(3)
5 11 7 9
7 13 9 11
   (4)

5 9 11 7
7 11 13 9
  

66.
65
12  vkSj 12

7  ds ; ksx dks buds vUrj l s Hkkx nsa&

(1)
599
311 (2)

680
216 (3)

642
133 (4)

501
301

67. nks i fjes;  l a[ ; k dk xq.ku –28
81

gS] ; fn bl esa l s , d l a[ ; k

14
27 gS] rks nwl jh l a[ ; k Kkr djsaA

(1)
2
5 (2)

8
17 (3)

–2
3 (4)

4
3



68. fp=k l s] x dk eku Kkr djsaA ; fn BC||ED

x°

85° CB

A

E D
(1) 85° (2) 90° (3) 95° (4) 80°

69. [0.25  (0.5)] + [0.25 + (0.5)] gS–
(1) 0.86 (2) 1.25 (3) 1.70 (4) 5.75

70. rhu i fjes;  l a[ ; k a, b, c ds fy,  gekjs i kl  a > b vkSj
b < c gSA fuEufyf[ kr esa l s dkSu&l k , d l gh gS\
(1) a > c
(2) b l cl s NksVh i fjes;  l a[ ; k gS
(3) a < c
(4) (1) vkSj (2) nksuksa l gh gS



Space For Rough Work Class-VII/011

71. Which of the following statements is true ?

(1)
–2 4 –5 7
3 –9 12 –18

  

(2)
7 –5 4 –2

–18 –12 –9 3
  

(3)
4 7 –5 –2
–9 –18 12 3

  

(4)   
–5 –2 4 7
12 3 –9 –18

72. In figure, OP bisects BOC and OQ bisects AOC.
Find POQ.

BA

Q C
P

O
(1) 85° (2) 180° (3) 90° (4) 120°

73. In fig. lines P and R intersect at O. If x = 45°,
then find y.

O x
z
u

y

R

P

(1) 135° (2) 90° (3) 180° (4) 45°
74. In the figure, AB is parallel to CD and ECD is a

right angle. Find y.

22°

C D

B

Y

E

A
(1) 111° (2) 112° (3) 113° (4) 114°

75. In the fig. AB||CD||EF. Which of the following
statement is true ?

A

E

a
b
c

F
D

d
C

B

(1) a + b = 180° (2) b + c = 180°

(3) c + d = 180° (4) a + b + c = 360°

76. If the radii of two concentric circles are 15 cm
and 13 cm. respectively, then the area of the
circulating ring in square cm will be –

(1) 176 (2) 178

(3) 180 (4) 200

71. fuEufyf[ kr esa l s dkSu&l k dFku l gh gS?

(1)
–2 4 –5 7
3 –9 12 –18

  

(2)
7 –5 4 –2

–18 –12 –9 3
  

(3)
4 7 –5 –2
–9 –18 12 3

  

(4)   
–5 –2 4 7
12 3 –9 –18

72. fp=k esa] OP, BOC dks f}Hkkft r djrk gS vkSj OQ AOC dks
f}Hkkft r djrk gSA POQ Kkr djsaA

BA

Q C
P

O
(1) 85° (2) 180° (3) 90° (4) 120°

73. fp=k esa js[ kk, ¡ P vkSj R, O i j  i zfrPNsn djrs gSaA vxj x = 45°
rc y Kkr djsaA

O x
z
u

y

R

P

(1) 135° (2) 90° (3) 180° (4) 45°
74. fp=k esa AB, CD ds l ekukraj gS vkSj ECD , d l edks.k gSA

y Kkr djsaA

22°

C D

B

Y

E

A
(1) 111° (2) 112° (3) 113° (4) 114°

75. fn; s x; s fp=k esa AB||CD||EF. fuEufyf[ kr esa l s dkSu&l k
dFku l gh gS\

A

E

a
b
c

F
D

d
C

B

(1) a + b = 180° (2) b + c = 180°

(3) c + d = 180° (4) a + b + c = 360°

76. nks l dsfUnzr òÙkksa dh f=kT; k, ¡ Øe' k% 15 cm vkSj 13 cm gS rks
?kw.kZu oy;  dk {ks=ki Qy oxZ l súehú esa gksxkµ
(1) 176 (2) 178

(3) 180 (4) 200



Space For Rough Work Class-VII/012

77. Four circles of radius 1 cm each are placed in
such a way on a plane paper that each touches
the other. Find the area (cm2) of the space left
in between the four circles. ( = 3.14)

(1) 0.82 (2) 0.84

(3) 0.86 (4) 0.88

78. 7.83 7.83 –1.17 1.17 ?
6.66

 


(1) 10 (2) 0 (3) 9 (4) 7

79. Simplify :–

7 63 – 2 28 – 6 7 ?

(1) 11 7 (2) 4 3

(3) 9 4 (4) 0

80. The value of –

                  
       

1 1 1 11 1 1 ........... 1 ........
2 3 4 10

(1)
10
11

(2)
1
9

(3)
1

10
(4)

1
2

81. In the following question, one term in the
number series is wrong. Find out the wrong term.

24, 27, 31, 33, 36, 39, 42

(1) 24 (2) 27 (3) 31 (4) 33

82. In the following question, there is a series of
five figures. In order to continue the series,
choose a figure from the options that could be
the next term of the series.

X
O
=

O
=

=
X

=
O
X

X O X = O

(1)
O
X
=

(2)
X

=
O

(3)
X =O

(4)
X

=

O

83. QN is to TK as TQ is to _________ .

(1) QN (2) NQ (3) WN (4) NW

84. 23 is to 18 as 54 is to _________ .

(1) 45 (2) 44 (3) 43 (4) 42

77. i zR; sd 1 cm  f=kT; kvksa dh pkj òÙksa  , d l ery dkxt  i j bl
i zdkj j[ kh gS fd os , d nwl js dks Li ' kZ djrh gaSA pkjksa òÙk ds chp
esa fjDr LFkku dk {ks=ki Qy (cm2) Kkr djsaA ( = 3.14)

(1) 0.82 (2) 0.84

(3) 0.86 (4) 0.88

78. 7.83 7.83 –1.17 1.17 ?
6.66

 


(1) 10 (2) 0 (3) 9 (4) 7

79. l jy djsa :–

7 63 – 2 28 – 6 7 ?

(1) 11 7 (2) 4 3

(3) 9 4 (4) 0

80.
                  
       

1 1 1 11 1 1 ........... 1 ........
2 3 4 10

dk eku gS&

(1)
10
11 (2)

1
9 (3)

1
10 (4)

1
2

81. fn; s x; s i z' u esa] l a[ ; k Jà[ kyk dk , d i n xyr gSA xyr i n dks
Kkr djsaA

24, 27, 31, 33, 36, 39, 42

(1) 24 (2) 27 (3) 31 (4) 33

82. fuEufyf[ kr i z' u esa] i k¡p fp=kkas dh , d Jà[ kyk gSA Jà[ kyk dks
vkxs c<+kus ds Øe esa fodYi  l s ml  fp=k dks pqusa t ks Jà[ kyk dk
vxyk i n gks l dsA

X
O
=

O
=

=
X

=
O
X

X O X = O

(1)
O
X
=

(2)
X

=
O

(3)
X =O

(4)
X

=

O

83. QN vuqi kr  TK gS ml h rjg TQ vuqi kr _________ gSA
(1) QN (2) NQ (3) WN (4) NW

84. 23 vuqi kr  18 gS ml h i zdkj 54 vuqi kr _________ gSA
(1) 45 (2) 44 (3) 43 (4) 42



Space For Rough Work Class-VII/013

85. If in a certain code ‘19078’ is written as ‘JPHSX’
and ‘65432’ as ‘DBAIK’, the how will ‘89235’ be
written in the same code ?

(1) JPDBI (2) XHVSK

(3) HPJAK (4) XPKIB

86. Introducing Kartik, Mohit says, “I am the son of
the only son of his grandfather.” How Mohit is
related to Kartik ?

(1) Brother (2) Nephew

(3) Son (4) Uncle

87. Which of the following figures represents the
relation between ‘Parrots’, ‘Birds’ and ‘Crows’ ?

(1) (2)

(3) (4)

88. In this question, four words are given. Which of
the following words will come first, if all of them
are arranged alphabetically as in a dictionary?

(1) Sport (2) Spouse

(3) Spark (4) Space

89. If 1 is subtracted from the last digit of each of
the given numbers, then the sum of the digits
of how many of them are prime numbers ?

972     526     487     359     251

(1) None (2) Two

(3) One (4) Three

90. If ‘–’ stands for ‘’, ‘’ stands for ‘–’, ‘+’ stands for
‘×’ and ‘×’ stands for ‘+’, then 12 – 4 × 7 + 8  5 is
___________ .

(1) 51 (2) 45 (3) 34 (4) 54

91. If ‘–’ stands for ‘division, ‘+’ stands for
‘multiplication’, ‘’ stands for ‘subtraction’ and
‘×’ stands for ‘addition’, then which one of the
following equations is correct ?

(1) 2 × 5 × 6 + 3  2 = 23

(2) 2 × 5 + 6 – 3  2 = 23

(3) 2 – 5  6 × 3 – 2 = 23

(4) 2  5 + 6 – 3 + 2 = 23

85. ; fn , d fuf' pr l adsr esa ‘19078’ dks ‘JPHSX’ vkSj ‘65432’
dks ‘DBAIK’, fy[ kk x; k gS] ml h dksM esa ‘89235’ dks dSl s fy[ kk
t k; sxk\
(1) JPDBI (2) XHVSK
(3) HPJAK (4) XPKIB

86. dkfrZd dk i fjp;  djkrs gq,  eksfgr dgrk gS] ¶eSa ml ds nknk ds
bdykSrs csVs dk csVk gw¡̧  eksfgr] dkfrZd l s dSl s l acaf/ r gS\

(1) HkkbZ (2) Hkrht k

(3) csVk (4) pkpk

87. fuEufyf[ kr esa l s dkSu l k fp=k r̂ksrk*] f̂pfM+; k* vkSj d̂kSvk* ds
chp ds l Eca/  dks n' kkZrk gS\

(1) (2)

(3) (4)

88. bl  i z' u esa] pkj ' kCn fn; s x; s gSA vxj muesa l s l Hkh ' kCndks"k ds
vuql kj o.kZØekuql kj O; ofLFkr gS] fuEufyf[ kr esa l s dkSu l k ' kCn
l cl s i gys vk; sxk\
(1) Sport (2) Spouse
(3) Spark (4) Space

89. vxj fn; s x; s i zR; sd l a[ ; k ds vafre vad l s 1 ?kVk fn; k t k,  rks
buesa l s fdrus vadksa dk ; ksx vHkkT;  l a[ ; k, ¡ gSA

972     526     487     359     251

(1) dksbZ ugha (2) nks
(3) , d (4) rhu

90. vxj ‘–’  ‘’ ds fy,  l wfpr djrs gSA ‘’  ‘–’ ds fy,  l wfpr djrs
gSA ‘+’  ‘×’ ds fy,  l wfpr djrs gSA ‘×’  ‘+’ ds fy,  l wfpr djrs gS]
rks 12 – 4 × 7 + 8  5 ___________ gSA
(1) 51 (2) 45 (3) 34 (4) 54

91. ; fn ‘–’ i zfrdr̀ gS ̂ Hkkx* ds fy, , ‘+’ i zfrdr̀ gS x̂q.kk* ds fy, , ‘’
i zfrdr̀ gS ?̂kVko* ds fy,  vkSj  ‘×’ i zfrdr̀ gS t̂ ksM+* ds fy,  rks
fuEufyf[ kr esa l s dkSu l k , d l ehdj.k l gh gS\
(1) 2 × 5 × 6 + 3  2 = 23

(2) 2 × 5 + 6 – 3  2 = 23

(3) 2 – 5  6 × 3 – 2 = 23

(4) 2  5 + 6 – 3 + 2 = 23
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92. Count the number of cubes in the given figure.

(1) 35 (2) 36 (3) 26 (4) 34

93. How many pairs of letters are there in the word
PHILOSOPHICAL which have as many letters
between them as in the English alphabet ?

(1) Nine (2) Four

(3) Seven (4) Six

94. Select the pair which satisfies the same
conditions of placement of dots.

P Q R

(1) PQ (2) QR

(3) PR (4) None of these

95. Which of the following Venn diagrams best
represents the relationship amongst “Aeroplane,
Pilot, Air hostess” ?

(1) (2)

(3) (4)

96. Which would be the proper order of the following
(in ascending order) ?

1. Trillion 2. Thousand

3. Billion 4. Hundred

5. Million

(1) 1, 2, 4, 3, 5 (2) 1, 5, 3, 2, 4

(3) 4, 2, 3, 5, 1 (4) 4, 2, 5, 3, 1

92. fn; s x; s fp=k esa ?ku dh l a[ ; k dh x.kuk djsaA

(1) 35 (2) 36 (3) 26 (4) 34

93. ' kCn PHILOSOPHICAL esa fdrus l kjs v {kjksa dk ; qXe gS t ks
vaxzst h o.kZekyk ds : i  esa mu nksuksa ds chp ds dbZ v {kj gS\

(1) ukS (2) pkj

(3) l kr (4) Ng

94. ml  ; qXe dks pqusa t ks fcUnq ds l eku LFkku dks l arq"V djrk gSA

P Q R

(1) PQ (2) QR

(3) PR (4) buesa l s dksbZ ugha

95. fuEufyf[ kr esa l s dkSu l k osu vkjs[ k ¶gokbZt gkt ] i k; yV] , ; j
gksLVsl ¸  ds chp ds l Eca/  dks l gh i znf' kZr djrk gS\

(1) (2)

(3) (4)

96. fuEufyf[ kr esa dkSu l k l gh Øe gksxk (vkjksgh Øe esa) \

1. [ kjc 2. gt kj

3. v jc 4. l kS

5. nl  yk[ k
(1) 1, 2, 4, 3, 5 (2) 1, 5, 3, 2, 4

(3) 4, 2, 3, 5, 1 (4) 4, 2, 5, 3, 1



Space For Rough Work Class-VII/015

97. Which number sequence of the following
represents a correct sequence from small to big?

(a) Bangalow (b) Flat

(c) Cottage (d) House

(e) Palace

(1) (c), (b), (a), (d), (e) (2) (c), (b), (d), (a), (e)

(3) (e), (d), (a), (b), (c) (4) (b), (c), (d), (a), (e)

98. Find the absolute truth out of the given
alternatives.

A train always has

(1) Engine (2) Rails

(3) Driver (4) Passengers
99. A, B and C are sister. D is the brother of E and E

is the daughter of B. How is A related to D?
(1) Sister (2) Cousin
(3) Niece (4) Aunt

100. Find the missing term in Question
17, 21, 37, 73, 137, 237, .........
(1) 511 (2) 512 (3) 513 (4) 381

97. fuEufyf[ kr esa l s dkSu l k l a[ ; k Øe] NksVs l s cM+s ds , d l gh Øe
dks i zLrqr djrk gS\
(a) caxyk (b) ÝySV
(c) dkWVst (d) ?kj
(e) egy
(1) (c), (b), (a), (d), (e) (2) (c), (b), (d), (a), (e)
(3) (e), (d), (a), (b), (c) (4) (b), (c), (d), (a), (e)

98. fn; s x; s fodYi  esa l s i w.kZ : i  l s l gh oDrO;  dks Kkr djsaA
, d Vsªu esa ges' kk gksrk gS&
(1) bZat u (2) i Vfj; k¡
(3) pkyd (4) ; kf=k; k¡

99. A, B vkSj C cgus gSa] D, E dk HkkbZ gS vkSj E, B dh csVh gSA
A, D l s dSl s l acaf/ r gSA
(1) cgu (2) ppsjh cgu
(3) Hkkat h (4) pkph

100. i z' u esa fjDr LFkku dks Kkr djsa
17, 21, 37, 73, 137, 237, .........
(1) 511 (2) 512 (3) 513 (4) 381
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